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� ����������&61$ 1.   ��ก���� �!���� "�� ก��� �#�$ %��ก�& (�(�)�) +,-�� "��$��$ ���(���./� 0���&1����� 
31 ���1�3� 2553 

2. 3���� ��$4,ก��&���� ����+,-ก��1 �3��-(�9��-���ก���� � (MD&A) ���(���./� 0���&
1����� 31 ���1�3� 2553 !���� "�� ก��� �#�$ %��ก�& (�(�)�) +,-�� "��$��$ 

3. +����$������.4,ก��&���� ����!���� "��> (?���� F45-3) 
  
 �� "�� ก��� �#�$ %��ก�& (�(�)�) !���������ก���� �!���� "�� ก��� �#�$ %��ก�& (�(�)�) +,- �� "��$��$ 
���(����1&./� 0���&1����� 31 ���1�3� 2553  BC��4���ก��7�1%���%�ก456�����D)� (�����ก���ก��7�1%�� �+4��& �) 
+,61   ��6��3���� ��$4,ก��&���� ����+,-ก��1 �3��-(�9��-���ก���� � ���(���./� 0���&1����� 31 ���1�3� 2553
7����$,-���$&E�� ����������&61$  F&$���.���-���3�D#&6&����0 

E�./ 2553 ��7��(ก���ก��� ���ก��.���7�1���&�!C0��$���)�&�%�7��������%�ก#7���� 4 !��./ 2552    
(,��%�ก������1-�8�"9ก %F,ก�� ��?GH�7�1 IC�+�6%-#&6���4,ก�-��%�ก�(7�ก��J��5�!�#?�-�� &E�.�-��8      
#�B�+,�&� ���E(6����?K�$�F�.76��.L&,��-$-(�C��E��&�����"�$� 2553 +,-�(7�ก��J�)��������ก�������     
��$E�.�-��8 E�)�1��&�����"�$� - �M"��3� 2553  +7��$���#�กN7�� E�#7���� 3 �(7�ก��J��� ��3,��3,�$  
.�-ก��ก���� "��> #&6&���� �ก,$�������ก %�$����!6�!6�  +,-��ก��.���+4�ก��������E(6�(��-�����ก��   
�I��ก��J�����.,��$�+.,��$���7�������� ���4,E(6ก��&���� ����!���� "��> E�./ 2553 ��ก��#��� ��!C0�%�ก./ 2552  

��ก%�ก��0� �������6��31��+!N�+ก���&6��ก���� � �� "��> #&6��ก(�6�����D�� �����%���1� 15,000 
,6����� E��&���ก��$�$� 2553 31�35�#.ก��ก��%�&(��� �ก56$��7��+4� +,-ก��%�&(�1��� ������6���� กI��
#&67,�&�1,� (Committed Revolving Credit Line) ���E(6 J � 0�./ 2553 �� "��> ���� ��&�������$5�E��กJ �̂
��7�9��!����$ก��� � 
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4,ก��&���� ����E�./ 2553 �� "��> ����$#&6�1���0�� 0� 184,270 ,6����� �� ��!C0�%�ก./ก��� 20,395 
,6����� (����6�$,- 12.4 F&$����$#&6%�กก��!�$(���ก��E(6�� ก���� ��!C0� 18,985 ,6����� (����6�$,- 
11.7  3��E)6%��$#���1�ก��#� (!�&���) %�ก��7��+,ก�.,��$�+7��1���1�+���ก��#� (!�&���) %�ก�� �,����7��
1 ����1�#&6���$+,-76�������ก���� � ��%���1���0�� 0� 175,853 ,6����� �5�ก1��./ก��� 16,918 ,6����� (���
�6�$,- 10.6 �.b�4,��%�ก��3��0������3������ �F&$�c,��$�5�!C0��6�$,- 26.4  ก���� ��.� ��Jก��4, 7+,-    
ก��!����  .�-ก��ก��3��E)6%��$��3,�ก��5�!C0� BC����1�(�C���.b�4,��%�กก������� "��> #&6&���� �$���8��7��
ก���� (��ก��,��3� �����E(676������3,�ก�F&$�1�E��-$-$�1,&,�    .�-ก��ก���� "��> ��ก��#�%�ก��7��
+,ก�.,��$��� �7��7���.�-��8 9,106 ,6����� �� ��!C0� 5,939 ,6����� (����6�$,- 187.5 �.b�4,E(6�� "��> ��
ก��#�����  15,350 ,6����� 3 &�.b�ก��#�7��(�6� 8.39 ���  �5�ก1��./ก���BC����ก��#�����  7,344  ,6����� (���ก��#�
7��(�6� 4.32 ���  F&$��ก��#�ก���(�ก&�ก���0$ ��"� 3����������3� 3��7�&%��(���$ +,-3���)���3������ �+,-
�-#(,� ( EBITDAR) ����ก�� 33,322 ,6����� �5�ก1��./ก��� 1,405 ,6����� (����6�$,- 4.4 

J 1����� 31 ���1�3� 2553  �� "�� ก��� �#�$ %��ก�& (�(�)�) +,-�� "��$��$ ��� �����$��1���0�� 0� 
293,760 ,6�����  �� ��!C0�%�ก J 1����� 31 ���1�3� 2552 %���1� 22,066 ,6�����  F&$��(��0� ��1���0�� 0� 
210,850 ,6�����  ,&,� 7,600  ,6�����  +,-��1�!��456I��(�6��1���0�� 0� 82,910 ,6����� �� ��!C0� 29,666 
,6�����   
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